Possible clicker question for stoichiometry:
14. Which of the following changes can be described by the balanced chemical

equation,
Ay(g) + 3By — 2AB;3(g)
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Another clicker question:
Consider the following chemical equation describing the reaction between sulfur dioxide

and oxygen.
2805(g) + Oy(2) — 2SOs(g)

Given the following container as representing the final condition
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Which of the following containers best represents the initial conditions?
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Another variation
Consider the following chemical equation describing the reaction between sulfur dioxide
and oxygen.
2SOz(g) + Oz(g) — 2SO3(g)

Given the following container as representing the final condition
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Which of the following containers best represents the initial conditions?
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Which of the chemical equations best describes the reaction represented by the
containers below? Consider the container label ‘initial condition’ as the
reactants before any reaction has occurred, and the container labeled ‘final
condition’ as the same container after the reaction has reached completion.
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4A,() + TBy(g) — 4AB;(g)

4As(g) + TBy(g) — 4AB;3(g) + 1By(g) + 2A5(g)
Aj(g) +3By(g) — 2AB;(g)

4A,(g) + 6By(g) — 4AB;(g)

Ar(e) + Bye) — AB3(g)
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